= o
A & 0l & AFSE E Al A
2015HE 20lA BHEIH JIEISHEH, BIILSHIH FHHY
SN BENLD
Hu: XM X0l BN BAE MG A&
Sel NARHLAE =X EEH-E)
5 = RE]
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Eag=lpl=1gns 56,932,010 73,891,573 A 16,959,563
= 1,975,000
X 7,781,060
& 47,175,950
& X0l 21F EMsE Mzl 2& 27,392,148 32,453,200 25,061,052
= 400,000
X 4,216,000
< 22,776,148
AEzgdgd A 4,281,000 8,111,300 23,830,300
X 4,216,000
< 65,000
st=XAXETHE XA 52,000 52,000 0
306 ¢ =2 52,000 52,000 0
01 &3 52,000 52,000 0
OZNANEWES 23 52,000
NLEN=ERARS 294 13,000 17,700 A4,700
201 Zet24l 13,000 17,700 A4,700
01 At 2t 2l 13,000 17,700 A4,700
OEXN+=EME 45 /AEHE 13,000
ANAMEASMGFHOAH X 203,000 262,000 A 59,000
Xl 203,000
101 @124 dl 126,985 107,000 19,985
Xl 126,985
4 JIZtHZ22HEE =+ 126,985 107,000 19,985
OXNgdaAd=a 2y 110,000
-2 84,000
Xl 84,000
- AR & 26,000
Xl 26,000
OJIasg Bga 7,818
—HRE 5,970
X 5,970
- AR & 1,848
Xl 1,848
OgEZN 53 9,167
-3 7,000
Xl 7,000
- AR 2,167
Xl 2,167
201 et 19,635 55,000 A 35,365
Xl 19,635
01 At 22l 19,635 45,000 225,365
ONGMEBALNE Y 29 19,635
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M M XE0 2058 ZFAls Atg H4
o9l NYRHUH =X CER-ED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
N 19,635
202 04d| 16,380 0 16,380
Xl 16,380
01 2L Y| 16,380 0 16,380
OXNGMESALNEOH 2H 16,380
Xl 16,380
207 A O | 40,000 100,000 A 60,000
Xl 40,000
01 A2 &S| 40,000 100,000 A 60,000
ONSsi=mMen SR g 40,000
Xl 40,000
NeHsMSAE S AMNS 2,983,000 2,191,000 792,000
N 2,983,000
403 XXM S K201 A 2,983,000 2,191,000 792,000
N 2,983,000
01 HXHNMAHEE = 2,983,000 2,191,000 792,000
OXNgd=sMaeAEH AN 2,983,000
Xl 2,983,000
XX SAAS 1,030,000 915,000 115,000
Xl 1,030,000
308 AAXISHAMSOIA 1,030,000 915,000 115,000
Xl 1,030,000
01 HXHHNBIMNEXS 1,030,000 915,000 115,000
OFXZXEASA 1,030,000
Xl 1,030,000
DIHXI & T AHE =8 400,000 203,500 196,500
= 400,000
S A HEH S M A E A 400,000 200,000 200,000
= 400,000
403 XX S M S K201 & 400,000 200,000 200,000
= 400,000
01 XIS AE2E X 400,000 200,000 200,000
OZAHE XS M HEAAS 400,000
= 400,000
DY N TR HIEFX 74,000 78,400 A 4,400
DEHYN EQHO YA 44,000 48,400 A 4,400
203 ¥ 2 =& 44,000 48,400 A4, 400
03 Al Z=X SR =AH| 44,000 48,400 A 4,400
ORHLA FQH AREA 44,000
DEYNAR =X 30,000 30,000 0
201 Bt 30,000 30,000 0




AN ZEMRL D
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X{ XH -
S =

S BHYN FRHY YREX (er:@e)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

01 At 22l 30,000 30,000 0
Oggtd & =2t 30,000

NAZEUYd S (SEECFELHELEFAH) 22,637,148 24,060,000 A 1,422,852

ANEZELEH ALY =2 22,537,148 23,960,000 A 1,422,852

201 Let2d] 1,000 0 1,000

01 At 22l 1,000 0 1,000
Ot & ==ZHl 1,000

202 O4dl 2,250 0 2,250

01 = LH 4 di 2,250 0 2,250
OXZzgdedd =N 2,250

207 O] 150,000 0 150,000

01 289 150,000 0 150,000
Od=0I2 ALE & ASLSAY 160,000

403 A X EHS =0l A 21,529,000 23,760,000 A 2,231,000

01 X SHHX2E = 21,529,000 23,760,000 22,231,000
OXNGnEged MSAY 16,903,000
OXNEznEdeLdd S2AY 3,000,000
OXdzmggd eldE= 1,500,000
Ood=s0t=S Mg 126,000

801 Gl HIbI 854,898 200,000 654,898

01 &Btolbltl 854,898 200,000 654,898
O LHMES3I A olblbl 854,898

ANAzgedd ey 29 100,000 100,000 0

403 A X EHHS =0l A 100,000 100,000 0

02 BII 2SOl CHEHCH S AF I 100,000 100,000 0
OXdzmggd A4y 29 100,000

oA NGO 7,730,060 17,558,220 A 9,828,160
= 1,575,000
Xl 3,565,060
< 2,590,000

NS =a 4,030,060 15,758,220 A 11,728,160
= 75,000
Xl 3,565,060
< 390,000

SESUNSE HE ALY 1,298,000 11,315,000 A 10,017,000
Xl 1,298,000

403 A X EHHS 20l A 1,298,000 11,315,000 A 10,017,000
Xl 1,298,000

01 X ESHHMA=LE L 1,298,000 11,315,000 A 10,017,000
OdEEAX ML ALS 1,298,000




2N e
AN

X{ XH -
S =

B SR (B) - KIRAY - BES Ol &t o San HmEET

Xl 1,298,000

AEHE =8 300,000 0 300,000

207 A& H| 300,000 0 300,000

01 289 300,000 0 300,000
OoXgimgH= =g 300,000

A RXIEH RI2l K 2hALS 150,000 0 150,000
= 75,000
< 75,000

207 A RO 150,000 0 150,000
= 75,000
< 75,000

01 89 150,000 0 150,000
OZAXXIEH Xlel Xl &2A 150,000
= 75,000
S 75,000

LHE T FUXNJAAS 2,233,160 3,585,360 A 1,352,200
Xl 2,233,160

308 MHtXIEHSOIH 8,160 8,160 0
Xl 8,160

01 HXNHHBHELS 8,160 8,160 0
OMNgHs 2 FUXNAAS (HEXH) 8,160
Xl 8,160

403 XIS E =0l & 2,225,000 3,577,200 A 1,352,200
Xl 2,225,000

01 XM A=2E X 2,225,000 3,577,200 A 1,352,200
ONZHs e =0XNJAL (AEXSH) 2,225,000
Xl 2,225,000

ZRstA 2t (=) 8,900 8,060 840
Xl 8,900

202 odl 4,400 4,460 A 60
Xl 4,400

01 = LH o4 1l 4,400 4,460 260
Ofgxet=S2el ol 4,400
Xl 4,400

301 gt d= 4,500 3,600 900
X 4,500

0B A =R RAB A4S 4,500 3,600 900
OMI=RE B4z 4,500
Xl 4,500

RISt 22l (Al2) 25,000 24,000 1,000
Xl 25,000

308 XXM SO0 A 25,000 24,000 1,000
Xl 25,000




PN oEHE D
I geH XNFHL
S EPEB CERED
5 - 4
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
01 UXESHHBLEXS 25,000 24,000 1,000
O Met < 2ell 25,000
N 25,000
T OHEEAIE 22l 15,000 15,000 0
401 AlEHIZ R0 8] 15,000 15,000 0
01 A€l 15,000 15,000 0
Ok HEHAE RA 2= 15,000
S AIHE 2te| 2,200,000 1,800,000 400,000
A2 ZAEX LA 2,200,000 1,800,000 400,000
403 AR SHHMSTH=01H 2,200,000 1,800,000 400,000
01 XM= E = 2,200,000 1,800,000 400,000
OX G IHEAS 2,200,000
-SZ2EE S A2 NIHEAMY 2,200,000
HEE TASSEH 1,500,000 0 1,500,000
= 1,500,000
MY FESE MFAE EXNAL 1,500,000 0 1,500,000
= 1,500,000
403 TtXI M S A =01 A 1,500,000 0 1,500,000
= 1,500,000
01 HXSHH =L xE 1,500,000 0 1,500,000
OM&E FHEEA N[ AME XA 1,500,000
= 1,500,000
HY2IIH (DEMNL D) 130,802 120, 153 10,649
el 2l 31,000 26,529 4,471
el 2| 31,000 26,529 4,471
101 21248l 31,000 26,529 4,471
03 RIHSZ2NHE =+ 31,000 26,529 4,471
Otte2d 2= 31,000
-Jl2= 44,6803 x252 «1H 11,260
-d0= (11,260,000& /12 ) *400% 3,754
-Hll2s=+
(11,260,000 /122 10%) 122 «1H 1,126
- A2l 8,377& *40AI 2t x128 + 1Y 4,021
- 44,6803 x252 x1H 1,117
-Fr=g 44,6803 *104L «1H 4,647
-5e22=+ 67,0203 92«1 604
- 230t 300,000& 23| »1& 600
-ItE+¢ 40,000 «12& 14 480
— JHAI X 2 8 (11,260,000 /128 ) *80% 751
- SHl 110,000 x1& «12& 1,320




2N

T
=1

DE Y
MM ANSAHH (DENL D)
Col: ol 2oy (9 &)
- _ . RE!
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | - 22 110,0002 *1% » 12 1,320
=2l 99,802 93,624 6,178
ol 22| 99,802 93,624 6,178
201 YUBH2 Y] 23,062 20,664 2,398
01 At 22l 23,062 20,664 2,398
OJl24+2| 9,412
OPIE=EE] 13,650
202 04 H 49,140 45,360 3,780
01 2L 04 I 49,140 45,360 3,780
021204l 49,140
203 1R = X ) 27,600 27,600 0
01 Jl2YAR =AY 6,600 6,600 0
ORHAL2E 6,600
04 BA2UAR=RY| 21,000 21,000 0
OZE ML 4,200
ol==in" 4,200
onsszn 4,200
OXI 2= 2 T ot 4,200
OEXXE 4,200
HRES(RENLD) 21,679,000 23,760,000 A2,081,000
WEHHX= 21,679,000 23,760,000 A2,081,000
e HHK = 21,679,000 23,760,000 A2,081,000
701 JIEISI HE®ES 21,679,000 23,760,000 A2,081,000
01 JIEtBI HEE2 21,679,000 23,760,000 A2,081,000
ONUpHUMELS Y HE2 21,679,000
~NAPHYE WA 16,903,000
—H=20IS ALY 276,000
~NUBEHYE TR2AY 3,000,000
~XARESLE OMEE 1,500,000




